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19. Sex and violence. In June 2002, the Journal of Applied

Psychology reported on a study that examined whether . .

the content of TV shows inﬂuegced the ability of viewers Viol fm‘é’m ;ﬁr *:: tral
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cials. The researchers randomly assigned volunteers to Brands mé;;;, h 108

watch one of three programs, each containing the same |  pfean = 08 171 3.17

nine commercials. One of the programs had violent con- SD _ 187 | 176 177

tent, another sexual content, and the third neutral con- -
tent. After the shows ended, the subjects were asked to
recall the brands of products that were advertised, Re-
sults are summarized below.

(a) Conduct a hypothesis test to determine whether there is evidence that viewer memory for ads may
differ between programs with sexual content and programs with neutral content.
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(b) Find and interpret the confidence interval for the difference in brands recalled between sexual .
content programs and neutral content programs. '
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Chapter 24 Practice Quiz .
AP Statistics Quiz C — Chapter 24 Name

A total of 23 Gossett High School students were admitted to State University. Of those students,
7 were offered athletic scholarships, The school's guidance counselor looked at their composite

~ ACT scores (shown in the table), wondering if State U, might admit people with lower scores if
they also were athletes. Assuming that this group of students is representative of students
throughout the state, what do you think? o
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2. Create and interpret a 90% confidence interval.
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Chapter 25 Practice Quiz _
AP Statistics Quiz B — Chapter 25 Name

Most people are definitely dominant on one side of their body — either right or left. For some
sports being able to use both sides is an advantage, such as batting in baseball or softball. In order
to determine if there is a difference in strength between the dominant and non-dominant sides, a
few switch-hitting members of some school baseball and softball teams were asked to hit from

- both sides of the plate during batting practice. The longest hit (in feet) from each side was recorded
for each player. The data are shown in the table at the right. Does this sample indicate that there is
a difference in the distance a ball js hit by batters who are switch-hitters?
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2. Create and interpret a 95% confidence interval.
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